LINEAR PROGRAMMING PROBLEM

MAX 1X1+48X2

5.T.
1}  1X1+50%2<202
2)  1BX1+1X2<300

OPTIMAL SOLUTION

Objective Function Value = 194.710
Variable Value 'Reduced Costs i
X1 19.757 0.000 J
X2 3.645 0.000 i
1
i
Constraint Slack/Surplus Dual Prices
1 0.000 0.960
2 0.000 0.003

OBJECTIVE COEFFICIENT RANGES

Variable Tiower Limit
X1 0.960
X2 0.067

RIGHT HAND SIDE RANGES

Constraint ‘ Lower Limit
R 20.000
2 4,040

Current Value Upper Limit

1.000
48.000-

720.000
50.000

Upper Limit
15000.000
"3030.000

Cﬁirent Value
202.000
300.000
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